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EDUCATION
( Major )
Paper : 5.5
( Statistics in Education )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Fill in the blanks : 1x7=7
R Ot o 9
fa). The word ‘statistics’ refers to the
theories and involved in collecting,
summarizing and interpreting

numerical facts.
S| O IRAIAF O W22, eIz
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(b) is a figure which indicates how

many times a specific score repeats
itself in a given class interval.
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(2)

¢ Under normal conditions,

represents its group in the most reliable
manner.

Telfe AREee 9, T JIfEE t 4% @
1 HEGR S s afeffte 36 |

(d) The word standard deviation was coined
by :

Standard deviation *@b] q 5er
Ffafee |

means interrelationship between
two or more variables.

— 39 (R R A oS RS
91 SRR qeE SBLTofE |

(e)

is the value of perfect or ideal
correlation.

GRS ST W |

(99 Normal probability curve is
shaped.

PR SRS T wrpfie |

Answer the following questions - 2x4=8
©eT PPTRY T far
(a) Writ.e _ the names of two types of
statistics.
AR RT3 751 erere 1 fopey |
( Continued )

(3)

(b) Find out the median from the following
set of scores :

o N IATCOR *[1 IR T Sferea ¢
24, 18, 19, 12, 24,420,219

() The median and mode of a distribution
are 44-05 and 42-95 respectively. Find
out the mean.

@Al 997 Ao R/ oF 2eie] T4
TYECH 44-05 SF 42:95. 569 I Bfeleq |

(d In an entrance examination, a
candidate ranks 35 out of 150
candidates; find out his percentile rank.

G721 #RFTe oI A1 150 & A1Re
feote 35 N T S Fez; (@6 e
T Tfeed] |

3. Answer any three of the following questions :
- 5x3=15
o 2ppigRd U e fofbm Tew fors
(@) Write the drawing procedure  of
frequency polygon.
RO TIPSR T 2T T oy |

(b) Compute the standard deviation from
the following ungrouped scores :

T PR AP [ e 11 Wi [y
Sfere

30, 35, 36, 39, 42, 44, 46, 38, 34, 35
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(i d) : (5)

{c) Write.about the positive correlation and . 4. (a) Calculate the mean from the following
negative correlation with examples. table by using assumed mean method : 10
ERE T B G T el W@Ewwmm T
BRIPTR fora | ) S

Class Interval Frequency
I wFHE JE5ITel
(d) Calculate the valye of P, for the given 40-44 5
frequency distribution table : 35-39 6
30-34 9
I8 I [eqT OfteR @ poq W B o
et o APy 1
15-19 5
10-14 3
Class Interval Frequency N=50
S O Or / w4l
110-119
AT £ (b) What is median? Compute the median
10 from the following table : 2+8=10
90-
ok 15 T WA 57 oo OfEeR o[ A R
80-89 20 ql
70-79 12 Class Interval Frequency
60-69 9 1) SFre IR
65-69 I
50-59 5 60-64 3
40-49 1 55-59 4
50-54 7
.t S N =80 45-49 9
e 40-44 11
fe) Write 35-39 8
i b_ﬁ_Ve characteristics of normal 30-34 i
al lllty curve, 25-29 2
20-24 1
PR T8l Tr iy e frar | N = 50
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(8)

6. (a) Find the correlation coefficient between
the following two set of scores using the
product moment method and interpret
the result : 8+2=10

G T Ao e fm A of e
g STTRd BT Sl eq] e Foqreea 20
HI9{CGET :

Subject : A B C D E F G H I
TestX : 13 12 _10 10 8 6 6 5 3
Tostyimrtrddedl focls]aeefaienOh Slihal 3 725 g

= N

Or / J2<1

(b) A student of Class X has got 60 marks
on an achievement test. The mean of the
whole Class is 50 with standard
deviation 5. Find the percentile rank of
the student and write five other
applications  of normal probability
curve. 5+5=10
i TR Pl @i $fog s Wi
60 T S IR AR e Ry
CRT TFT T (R 50 © T R arm

5. PreEfiema o B Sfiear wie s
FSIfST &9 S #A051 2feael <1 TRz Foyey |
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